Ejercicios

1. Consider a market in which two firms produce a homogenous product. Market demand is given as:

P100-0,5(qaqb) , where qa and qb are the levels of output of firm A and firm B respectively.

The cost functions of each firm are also given as:

TC=5 qa 
MCa 5
TC b = 0.5 qb2
MCb  qb
a) What is the Pareto optimal market price (P)and output level of each firm (qa and qb ), and

what would be the profit that each firm makes at the Pareto Optimal price and output levels?

b) Suppose that these two firms recognize their mutual interdependence and agree to act in

unison in order to maximize the total profit of the industry. Both output levels are then

under a single control and the industry is, in effect, a monopoly. What are qa and qb ,

market price (P ) and profit of each firm?

c) Now consider the Cournot solution where each firm maximizes its profits on the assumption that the quantity produced by its rival is invariant with respect to its own quantity decision. That is, each firm maximizes its own profit assuming the output of the other firm is given. Again calculate the market price, output and profit for each firm.

d) Compare total output, price and total profit in (a) with (b) and (c). Do they make sense?
QUESTION 2.

Consider the following hidden action model with three possible actions E = {e1; e2; e3}.

There are two possible profit outcomes: pi_H = 10 and pi_L = 0. The probabilities of

pi_H conditional on the three effort levels are f(pi_H|e1) = 2=3, f(pi_H|e2) = 1/2, and

f(pi_H|e3) = 1/3. The agent's effort cost function has g(e1) = 5/3, g(e2) = 8/5, and

g(e3) = 4/3. Finally, the manager's utility function is v(w) = w1/2 , and his reservation

utility is v* = 0. The principal is risk neutral.

(a) What is the optimal contract when effort is observable?

(b) Show that if effort is not observable, then there is no contract which can implement the effort level e2. [Hint: Focus on the utility levels the manager will get for the two outcomes, vH and vL, rather than on the wage payments themselves.]

(c) What is the optimal contract when effort is not observable?
2. Equilibrium in a Repeated Game

Considere el siguiente juego simultáneo:
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	 0, 0


a) ¿Existe alguna estrategia estrictamente dominada?

b) Determinar el o los equilibrios de Nash en estrategias puras

c) Determinar el equilibrio de Nash en estrategias mixtas

d) Suponga ahora que el juego se repite infinitas veces y que se considere la estrategia de jugar I en el primer período, y jugar I siempre que los dos jugadores hayan jugado I en el pasado, o jugar D en caso contrario. ¿Para qué factor de descuento constituirán estas estrategias un equilibrio perfecto en subjuegos?

3. Long Run versus Short Run

Consider a “chain store” game in which an entrant must decide whether or not to enter the

market. If no entry occurs the incumbent monopolist gets 2 and the entrant nothing. If

entry occurs, the incumbent must choose between fighting and cooperating. If he fights,

both firms get –1. If he cooperates the firms split the market, each getting 1. Suppose

that the game is repeated between a infinitely-lived incumbent with discount factor equal

to and a sequence of short-lived entrants. What is the extensive and normal form of

the stage game? What is subgame perfect in the stage game? What other Nash equilibria

are there in the normal form? What is wrong with the Nash equilibrium that is not

subgame perfect? Why is enter/cooperate subgame perfect equilibrium of the repeated

game? For what value of is it a subgame perfect equilibrium for the incumbent to fight

as long as he has fought in the past, for entrants not to enter as long as the incumbent has

always fought, and for enter/cooperate to occur after an incumbent has cooperated at least

once?
Ejercicio discriminación de precios

1. (12 points) Suppose a monopolist can separate buyers into two identifiable groups and practice price discrimination. The demand function for group one is Q1 = 200 − 10P1 and for group two is Q2 = 400 − 40P2 where Q1 is sales to group one and Q2 is sales to group two. Suppose total costs are given by C(Q) = 7 + 3Q + .01Q2 where Q = Q1 + Q2.
Determine the profit-maximizing output and price for each market. Show that the price is higher in the market where demand is more inelastic.
Ejercicio monopolio
En una ciudad de la costa donde la temperatura es muy alta, existe solamente una empresa encargada de la producción y comercialización de refrescos. La demanda por refrescos está representada por la siguiente función: Q=420-7P
El monopolio que produce y vende los refrescos tiene la siguiente función de costos:

CT =Q2/40
(a) Determine el precio, la cantidad de equilibrio y los beneficios del monopolio en la

producción y comercialización de los refrescos.

(b) El monopolista identifica dos grupos específicos de compradores, los del centro de la ciudad y los de la periferia, así que decide vender a precios diferentes a cada uno de los dos grupos. Suponga que la demanda de los del grupo del centro es: Qc =314-4P. 
¿Cuál es el beneficio del monopolista? Compárelo con el que obtendría cobrando un único precio.

